SFHAJRAO— R

LC12053U—X

A&D Weighing

20kg~5tFETDIA KL > >%Z/MA . 1/5,000DERE.

XBEOOY RIY RRTZULIFEATS3>TY,

248

(CHWYGEIEED)-Z =

ERBERUHE x=xcEsTcY.

LC1205-K020

o Rovse

200N (20.39kg)

LC1205-K050

500N (50.99kg)

LC1205-K100

1kN (102.0kg)

LC1205-K200

2kN (203.9kg)

LC1205-K500

5kN (509.9kg)

LC1205-TO01A

10kN (1.020t)

LC1205-T002

20kN (2.039t)

LC1205-T005

50kN (5.099t)

ZRFIESWESE CE

sTE[CH#E, 5/5RD - EfaOmA.

Sz ~HER

B :

St

g=J)L& (5I5R) (BR+ BER- b+ FohH- @ S)LR
=D)L (EME) K:BE+ B:ERE- H:Hh- F:HHh+ H:S—)LR

B =mm

EIES A B € D E HE(kg) | ME
LC1205-K020, K050 50 64 19 23 |M6x1, F=11 0.3 TIL=
LC1205-K100 50 64 12 16 |M6x1. E=10 0.4
LC1205-K200, K500 50 64 19 23 [M12x1.75, F=10 0.5
LC1205-TO01A 75 | 100 | 24 28 |M18x1.5, RE25 1.3 F3
LC1205-T002 75 | 100 | 24 28 |M18x1.5, ®E22.5 1.3
LC1205-T005 75 | 100 | 36 40 |M24x2, R=21 1.9

LC1205-K100-C4*

1kN (102.0kg)

LC1205-K200-C4*

2kN (203.9kg)

LC1205-K500-C4*

5kN (509.9kg)

LC1205-TO01A-C4*

c4
10kN (1.020t)

LC1205-T002-C4™

20kN (2.039t)

LC1205-T005-C4™

50kN (5.099t)

g rsERTY.

T=JIKE/RE

®6./3m,
®6/5m (TOO1A, T0O02, TO05)

Zy= BRUTILZ

PBAEE - BhzK IP54

ehHE 0.12mm (K020, K050, K100, K200)
Ov RIZRRFUSY, Efi&R

SFsas v RIS RRTFULD, [EHEE.

HEE oI

Discover Precision

s iz

EHRES 1.5296mV/V£0.5% (K020, KO50) LC1205-K020 LC1205-K020 4981046613989 ¥24,000

2.0394mV/V£0.5% LC1205-K050 LC1205-K050 4981046613996 ¥24,000
RS EI=NG 200% of R.C. LC1205-K100 LC1205-K100 4981046614009 ¥26,000
RSB 250% of R.C. (K020, K050) LC1205-K200 LC1205-K200 4981046614016 ¥26,000

200% of R.C.. LC1205-K500 LC1205-K500 4981046614023 ¥26,000
HaiRE 0.02% of R.O. LC1205-T001A LC1205-TO01A 4981046614030 ¥32,000
HESZENINEE DC5~12V LC1205-T002 LC1205-T002 4981046614047 ¥40,000
BRAENNEE DC15V LC1205-T005 LC1205-T005 4981046614054 ¥50,000
FINS2R +2% of R.O. LC1205-K100-C4* LC1205K100-C4 4981046614061 ¥33,800
AR #1400Q LC1205-K200-C4* LC1205K200-C4 4981046614078 ¥33,800
fRayab e aliticiv i) 350Q+3.5Q LC1205-K500-C4* LC1205K500-C4 4981046614085 ¥33,800
HEBIRHT 5,000MQIL E/DC50V LC1205-TO01A-C4* LC1205T001A-C4 4981046614092 ¥41,600
SREHEEE -10C~60°C LC1205-T002-C4* LC1205T002-C4 4981046614108 ¥52,000
BRDRERE 0.07% of R.0./10°C LC1205-T005-C4* LC1205T005-C4 4981046614115 ¥65,000
HHORERE 0.02% of Load/10°C Typ.




AT23>
EEeE
LCBP LCMP LCBHP LCLB

a q it
O- RELBIOE JANOJ—R RS (k)

LCBP-1  |LCBP-1 4981046616362 ¥13,000
*}“/a'llz:l NY IR ERRE LCBP-2  |LCBP-2 4981046616379 ¥13,000
IOFA>ITL—h LCMP-1  |LCMP-1 4981046616386 ¥8,000
LC1205-K020, K050, K100 LCBP-1 LCMP-1 LCLB-1 LCMP-2 LCMP-2 4981046616393 ¥8,000
LC1205-K200, K500 LCBP-1 LCMP-2 LCLB-2 M6 LCMP-4 LCMP-4 4981046616409 ¥10,000
LC1205-TO01A, T002 LCBP-2 LCMP-4 LCLB-4 M10 LCMP-5 LCMP-5 4981046616416 ¥11,500
LC1205-T005 LCBP-2 LCMP-5 LCLB-5 M10 LCLB-1  |LCLB-1 4981046616423 ¥4,000
ATNAIRY DO RERAEE LCLB-2  |LCLB-2 4981046616430 ¥5,000
LC1205-K020, K050, K100 LCBHP-1 LCLB-1 M6 LCLB-5 LCLB-5 4981046616461 ¥7,000
LC1205-K200, K500 LCBHP-1 LCLB-2 M6 LCBHP-1 |LCBHP-1 | 4981046616478 ¥13,000
LC1205-T001A, T002 LCBHP-2 LCLB-4 M10 LCBHP-2 |LCBHP-2 | 4981046616485 ¥14,000
LC1205-T005 LCBHP-3 LCLB-5 M10 LCBHP-3 |LCBHP-3 | 4981046616492 ¥15,000
HIDI>T 4 20T L— NI FO— RELVERDAFARIL BB L TONET,
2L AINRY IR HERS ALY IR EEER
SR NPUYITL—p ;““*:mm SR RESF-NTL—k g FEZM
_ (espy) (LGBHP) | } o
O R RA IO R |—.——.—1—L O FRa (oL — ) —
e ] |
A— b LC1205 i DR LC1205™ LC1205:q i
) O—KHR%>(LCLB) L
R TAVTTL—F = K h—ILFL—h Elﬁ
(LCMP) (LCBHP)
& o & -
°
%\ () = 8-0F | ¢ -] ° i
o i b -
e e S — "
Bfi=mm Bfr=mm
&0— Rl A B C D E oF H BE0— Rl A B C D E oF H
LC1205-K020, K050, K100 115 77 100 16 16 8 72 LC1205-K020, K050, K100 120 77 100 16 16 8 72
LC1205-K200, K500 115 77 100 16 16 8 72 LC1205-K200, K500 120 77 100 16 16 8 72
LC1205-TO01A, T002 164 | 105 | 130 22 19 12 115 LC1205-T0O01A, T002 178 | 105 | 130 19 19 12 110
LC1205-T005 167 | 105 | 130 22 19 12 118 LC1205-T005 190 | 105 | 130 19 19 12 116
Ov RI>RRFZUYD (AZ)\—-BI)L2vwvIL) LCB
91‘H37f“}fc F
’_,L_l
3

%
L)
b
- __';< J

&
! \: B L ==

f . :

£ - | #IA

% | #B

§

i B =mm
-nn-nnnn aan—Koh
LCB-A6  |LCB-A6 4981046616300 ¥3,000 M6x1 LC1205-K020, K050, K100
LCB-A12 |LCB-A12 4981046616317 ¥4,000 % M12x1.75 | 152 | 182 | 32 12 11 16 56 35 85 LC1205-K200, K500
LCB-A18 |LCB-A18 4981046616324 ¥5,000 % M18x1.5 194 | 236 | 44 18 15 23 76 46 250 | LC1205-TOO1A
LCB-18  |LCB-18 4981046616331 ¥5,000 % M18x1.5 214 | 257 | 43 18 | 163 | 20 | 795 | 46 250 | LC1205-T002
LCB-24-5T |LCB-24-5T | 4981046616355 ¥18,000 % M24x2 268 | 338 | 70 25 | 253 | 35 | 105 | 59 1,150 | LC1205-T005

AND 5 T— P2 b5

AAL:T170-0013 S5 B K K i 983 T H 23 % 1493 [Aﬁij:o [ :*fiﬁw)mla.EEt&%HHH%EJ:G:‘Eﬁaa)J:.Eb<ab‘fﬁl,\<ré;:uo]
TEL.03-5391-6128(it) FAX.03-5391-6129
WAL B H"u i A TEL.011-251-2753 (1X) FAX.011-251-2759

WL & # ¥ fr TEL.022-211-8051 () FAX.022-211-8052
| Bk E B ¥ P TEL.028-610-0377 (%) FAX.028-633-2166
W 50k B % TEL.048-592-3111 (ff) FAX.048-592-3117
W 51 B % A TEL.045-476-5231 () FAX.045-476-5232
WifF [ E ¥ A TEL.054-286-2880 (%) FAX.054-286-2955
WA & R K TEL.052-726-8760 (f%) FAX.052-726-8769
MoKk B ¥ ¥ Pr TEL.06-7668-3900 (f%) FAX.06-7668-3901
W K5 B % B TEL.082-233-0611 (1\) FAX.082-233-7058
WiE b B ¥ FF TEL.092-441-6715 () FAX.092-411-2815

https://www. aandd. co.jp/ HARRUHIISHR OB SUT 0 BEBTBHANBOET,
HAENFOTISEEERITTT, AHYOIDREF2022F5AREDEDTY .



